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Answer EITHER all of Question 1 OR all of Question 2.

1 (a) Which of the following was a more significant reason for the renewed Habsburg-Valois conflict 
in the years 1544–1559?

  (i) The accession of Henry II as King of France

  (ii) The spread of Protestantism in Germany

  Explain your answer with reference to both (i) and (ii). [10]

 (b)* Assess the reasons why Charles V was unsuccessful in preventing the expansion of Ottoman 
power in the Balkans and Mediterranean. [20]

OR

2 (a) Which of the following posed a greater threat to the security of Charles V’s empire in 1520?

  (i) The Ottomans

  (ii) The Barbary Corsairs

  Explain your answer with reference to both (i) and (ii). [10]

 (b)* How far can the survival of Lutheranism in the years 1517–1529 be explained by the actions 
of Frederick the Wise? [20]


